SYDNEY GIRLS H.S,

Name
Year 9 —Coordinate Geometry TEST- "

» Time allowed: 35 minutes.
*  Write all answers on the question paper.
e Show all necessary working, including writing formulas.

Question 1. \
Find the midpoint of the interval with the endpoints (-3, -2) and (5, 1)

Question 2. »
Find the length of the interval between the points (—4, 4) and (3, ~1)

Question 3. . o
Find the gradient of the line which passes through the points (=2, 3) and (4, 12)
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Question 4.

On the number plane below, draw theline x-2y-8=0 . - (2 marks)
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Question 5. .
Find the equation of the straight line which passes through the point (—1, 5), with gradient m = -3.
(3 marks)
Question 6 A
Find the equation of the straight line Wh1ch passes through the two points (3, 3) and (2 5)
(4 marks)
Question 7.
Write each of the following equations in the general form: (3 marks)

a) 3y——2=39c ) b) y=~%x+2




Question 8.

What is the equation of the line parallel to y =3x—2, which passes through the point (5, 6)?-

Question 9 ~
Line p has the equation: y = £4x+6. Line q is
(1, 2).'What is the equation of line q?

Question 10
On the number plane below, graph the following inequality (x, y) x<Iny>x-3
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(3 marks)

perpendicularto p. Line g passes through the point

(3 marks)

(3 marks)
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Year 9 —Coordinate Geometry TEST ™

s Time allowed: 35 minutes.
*  Write all answers on the question paper.
* Show all necessary working, including writing formulas.
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Question 1. CAve 4. 4
Find the midpoint of the interval with the endpoints (-3, =2) and (3, I3} (3 marks) ~
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Question 2. .
Find the length of the interval between the points (-4, 4) and (3, ~1) (3 marks)
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Question 3.
Find the gradient of the line which passes through the points (-2, 3) and 4, 12) (3 marks)
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Question 4. < :
On the number plane below, d:raw theline x-2y—8=0 i .z = ¢ (2marks)
'; i 2;% ¢ z 24 Y 4 —
n- g o
8 =
> 3
e e e e e
[FELIT [} > xR - /
9 *TO, ys g
Yo, x- g = X298 e
| -1
L1 -4
Question 5. & .
Find the equation of the straight line which passes through the point (—1, 5), with gradient m =-3.
. ] (3 marks)
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Question 6.
Find the equation of the straight line which passes through the two points @3, 3) and (2 5)
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Question 7.
Write each of the following equations in the general form: &% Jc\z,\\,j +C =0 (3 marks)
a) 3y—2=3x b)yz—%x+2
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Question 8.
What is the equation of the line parallel to y=3x—2 » which passes through the point (5, 6)?
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Question 9 - . ’ -
Line p has the equation: y = £4x+6. Line g is perpendicular to p. Line g passes through the point
(1, 2). ' What is the equation of line q? (3 marks)
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Question 10

On the number plane below, graph the following inequality (xy):x<lny>x-3 (3 marks)
AL Y =x-3.
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